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BEIFE - EEGFRILEM - HE - AE BIFLE
2 0 L # 3 £ % £l 3% £ &=
£ (FO) SH75E SH65E 15 P51 SH7HE SH64E 3B P SH7HE SH64E b b5
S8AX 8AX % ] % 8AX 8AX % 0 % 8AX 8AX GIEM))
E E L OFE 104 99 5 5.1 98 77 21 27.3 94.2 77.8 16.4
®% A 10 4 6 150.0 10 4 6 150.0 100.0 100.0
5f & 7 5 2 40.0 4 6 -2 -33.3 57.1 120.0 -62.9
)i X 2 9 -7 -77.8 4 7 -3 -42.9 200.0 77.8 1222
TRIEMRE 28 28 31 28 3 10.7 110.7 100.0 10.7
BREEIRE 4 7 -3 -42.9 6 3 3 100.0 150.0 429 107.1
TRIEHLWLVED 53 46 7 15.2 43 29 14 48.3 81.1 63.0 18.1
EEHZEPL 1,086 831 255 30.7 206 404 -198 -49.0 19.0 48.6 -29.6
B A B 954 747 207 27.7 179 363 -184 -50.7 18.8 48.6 -29.8
FEXZR 377 330 47 14.2 78 126 -48 -38.1 20.7 38.2 -175
ToE B 294 245 49 20.0 64 92 -28 -30.4 21.8 37.6 -15.8
B R H 80 81 -1 -1.2 12 33 -21 -63.6 15.0 40.7 -25.7
B = % 3 4 -1 -25.0 2 1 1 100.0 66.7 25.0 417
z DO i 577 417 160 384 101 237 -136 -57.4 175 56.8 -39.3
B 8 H & 115 73 42 57.5 19 36 -17 -47.2 16.5 493 -32.8
[03=Y K] 1 3 -2 -66.7 4 3 1 33.3 400.0 100.0 300.0
El Y 16 8 8 100.0 4 2 2 100.0 25.0 25.0
£4 (£0) . i A £ %
SH75E SH65E ] P51 SH7HE SH64E # P51 SH7HE SH6E 1B 51
SAX 8H XK A g % SAX 8H=X A =l % 8AX 8H=X A = %
E Z N F 88 70 18 25.7 86 61 25 410 2 9 -7 -77.8
F3 A 10 2 8 400.0 10 2 8 400.0
8 & 6 7 -1 -14.3 6 7 -1 -14.3
)¢ X 2 7 -5 -714 1 7 -6 -85.7 1 1 -
FRIEMRE 29 24 5 20.8 28 20 8 40.0 1 4 -3 -75.0
BREGEIRE 4 4 4 3 1 33.3 1 -1 -100.0
FREDLUVED 37 26 11 42.3 37 22 15 68.2 4 -4 -100.0
EEHGEL 73 79 -6 -76 66 70 -4 -5.7 7 9 -2 -22.2
B A & 61 62 -1 -1.6 54 55 -1 -138 7 7
FEXR 26 17 9 52.9 23 15 8 53.3 3 2 1 50.0
T oE B 23 13 10 76.9 20 11 9 81.8 3 2 1 50.0
B R & 3 3 3 3
B = % 1 -1 -100.0 1 -1 -100.0
F 0O i 35 45 -10 -22.2 31 40 -9 -22.5 4 5 -1 -20.0
B & E & 7 13 -6 -46.2 7 13 -6 -46.2
Dot=<K Y 1 2 -1 -50.0 1 2 -1 -50.0
El Y 4 2 2 100.0 4 4 - 2 -2 -100.0




